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Run 4540 triggerwise, sums: All

Entries: 4156302

Mean: 5233.0077 +/- 2.5108

Std Dev: 5118.7687 +/- 1.7754

Run 4540 triggerwise, sums: All
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Run 4540 triggerwise, sums: Beam OFF

Entries: 2813

Mean: 1296.3580 +/- 11.8634

Std Dev: 629.2099 +/- 8.3887

Run 4540 triggerwise, sums: Beam OFF
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Run 4540 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 1413881

Mean: 6003.6810 +/- 4.8664

Std Dev: 5786.4656 +/- 3.4411

Entries: 1413417

Mean: 6011.0933 +/- 4.8772

Std Dev: 5798.4040 +/- 3.4487

Run 4540 triggerwise, sums: Beam ON, Laser ON
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Run 4540 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 625194

Mean: 3517.3496 +/- 2.9534

Std Dev: 2335.2328 +/- 2.0884

Entries: 624716

Mean: 3531.0353 +/- 2.9557

Std Dev: 2336.1745 +/- 2.0900

Run 4540 triggerwise, sums: Beam ON, Laser OFF
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